HNEHREXER

[LF¥a15—H5X]

E55EAARHEATILIEFIE =RikA=

B R SF6E10848($)
2 B HABERERINLIHIST -'Ea—X
F O RR—Y =R HE

W7 ORRE—k
M| R5—+| BFL | FER/UT|WE| BFR | mE/UT|WE| EFE |FE/UF|WB| EFE  |HE/UT|HA
k4 3- z= K ¥ = = L~
1 730 B @K RZE 82 HJIl $RiE BT E 82 INR f‘¥:F ErHE 82 X#FHF £5h T 83
(>3- +0.9 (£>r3—) +2.9 (BE) +1.1 (RFEEWMIY—b) -
9 738 ErRK & |BEBAR 82 ﬁ%*?,%:ﬁrs IUT— 82 & ‘ B | TLRT—Y 82 %Jﬁ Eih BHR 82
(Ks Golfy) +1.1 (AT ILD) - (BE) 2 (BBXERE) +0.6
3 746 PNz %:F T 82 e & &EN 82 WA B'H KFR 82 NLfAER FE 82
(BE) 16 0 )EE) 0 (RS) 34 (FZEHH) 0.7
4 254 n& EX ABC 82 & EE JEAEH 82 &% BAl JrtyzA 82 R E\fr-h KFIR 82
(&) 0 (R ABEBEIETA) 4 (018) 0 (HILE) 1
e ik f= z= 1z, = S Fay—F &
5 802 JiEEﬁ:‘Qﬂ F 81 w®E St W o1 FE T | wFau—oH 81 BEA KEB #LiR 82
(ZEHEE) +1.8 (FAH) 1.1 (YhYTv9) 4 (BA) +1.2
6 810 INE T REEF > 81 Fi& BN FRES o1 KT ¥ +3IE7 81 BHAE Bt FEREIR 81
’ (VA EHIYE) 3 (FLFov L R 0.4 (WANOR Rt 4—) 0.2 (NEWART) +0.6
7 818 INER Eith FEER 80 Ng =X JGA 80 #E £ Y /—R 80 EHE FEsA HE 80
(ARS) 2.7 (RATS) 1.3 (KEEM) 0.1 (GATYT) 4
8 826 $ﬂ<7~c —58 HEEIR 78 am ST N D A e 78 HWE #— | KFERR 79 *:rﬁ«'& B 3 79
(RELEE) +1.8 (ERET) 0.8 (&) 0 GINTEVE—) 2
9 834 o\ E INEH 78 tHEOEth RIES 78 B ER JOYXER 78 HME BE |¥Y¥ro0ox 78
) (BE) 0 (At k) 05 (F—IVYRT L) 0 (dtimR—1)>4) 05
10l g4 BAEAE L 77 KA #X R 77 FE Bz Gstyle 78 BA EILER 78
) (FrRAERE) +0.1 (BEBSR) 23 (BELLMONA CLINIC) 0 WFINIRESH)|  +15
1] es0 BE B SLVE 76 =H EY 4 77 INSETR—EBR g 7 R’ OHE RN 77
(Z4vbkiNHR) 6 (T774—) 0 ONER—BARKE L BRLHEHH) +0.8 (NBB) +0.3
X = 48 = = i3 o " 2|
12| ass WHE kE bl 75 i o KXEIL 76 Fi BEX KRFE#* 76 gw”%_ B | ATLeELX 76
(sY) +3.2 (RAAXT—F) +0.1 (UMY EZS) 0.1 =%) +0.8
13| 906 mE R oty A 7 tERKREFEX ot 24 KT KIE AE# 14 A0 BsA  |ARERq YL 75
’ GemEHoU=yoER)|  +3.9 (NgEILT—HR)  +08 (65774 R) 33 (AOFREE) 1
WA R3—hk
| RE—k BEFH FR/A\UT| oA EFL R/ A\UT| e EFL YA B! EFL R/ N7 | WA
= B OIET 4 n %
91 730 ﬁ%*_?%!i SR 83 #X [l REEXK 83 nEE A o 83 A j’éﬁ bl 83
(A—34) 0.7 (T—H1) 1 GLEREZX) 25 (RZELE) 3
3 e B B2 — c» = o =
99| 738 *E@ gl Rk 83 FE B |nAavzrs - _EI_#* Eoit R 83 B+t 5? wEN 84
(F—L) 1.6 (faELE) 9.5 (5Z-HHR—k) 9 (SAKAIEE% 0.7
- =3 —Ft 3G —1y :E
23| 746 Bl || BOH AR | o, | maEn TwwweilTOAR B2 | JA |
(c4c0) +0.1 (FLI7 LI N FHEEED) 0.1 EEREMES) +1.4 (ZEUFIERSERMT 47
= y SaRUE LS =mEH— — ==
04| 754 =E EBX ATE 84 s HIE | SeELyy 04 = HEE—ER SLV=E " WX #5 JGA "
(ASK) 0 (£>va—) 3 (MBEIELHE) 0.3 (BUNKER) 0.7
o E? AN S, SfEF 3 ,g N K4 = g3 — o E 3 L} Sy 3
25| g0z At .éﬂﬂ EMRISUR 85 Eig 18R INER 86 =5 ERCYIES 86 2L 5 R E TV o6
(BE) 5 (e Lz 19 (FEEE) 2.5 GUITYTSHI) 0
5 = 5 B =t z=
26| 810 FH BA BE 86 B KR HEERE 86 =F:3 ﬁi 5 86 A X =B 86
(BAEET) 2.1 ) 1 (BE) 36 (B—L) 2
3 4 K4 BX = 0 g =E
27 18 k%_ [ P52 87 »F}Er s /INAR 87 Hh 53‘3 =E(g1 87 -;_*r_Ei *é?z A 87
(R&ETY/) +1.1 (FWTI8—rF—) 2.1 (BE) 4 (THER 44
E— —HE = r—ox =
28 8:26 BIME %B rT—=UFEE a7 2SI N JGA 87 g #ik |¥-or—xen o8 B o= Rl o8
(BNEAERT) +2 (JFE ) 25 (B 5 (TRT7—IL1—) +0.6
= = A 17 =i il o a == =5 .‘.g Jou
29| g3s BAR RA [N 88 LA SIPN BB 88 B R2E Ll o8 i %E REARZEE o8
(F3EH) 2 (&%) 15 (PIECE) 1.8 HrFovzsh) 36
30| g4 UEF . B JGA 89 = BE JGA 89 5% %Eﬂ JGA 89 HE 5 S 90
(BE) 1.7 (RIZFEZX) 33 (Z4£T L) 52 (TLTYD) 3
31 8:50 R 7(?5 BRAYILAY 90 B0 ¥ i) %0 ZR EF Mmzan 90 KE _#Tﬁ D& 91
(BE) 1.3 (ZE2EI1Y) 6 (PWCIaVHILTA2) +2.7 (=% 5
32| gass %5 Sl 7k o XK BE JGA o " EE AL o1 K& r:trr\ S 91
(FERERIELAGRMEE) 0 (MHDEIARS—FAFSH) 1.9 542) 25 (A4—=")—FK) 3.7
33| o0 EE 18 JGA o K KE ES 92 EA B Kig 08
(FRAR)—) 6.5 (EKEM) 7.8 (KB 3




